
Kispest Kupa 2013. asztalitenisz verseny
5-6. oszt fiú kategória mérk őzések

# Megjegyzés
2. Stefán Ádám - Veszkóczy Balázs 0 : 2 1. kör

3. Vékony Dániel - Borbély Bence Regő 0 : 2 1. kör

6. Lóránt Levente - Fábián Sándor 2 : 0 1. kör

7. Tósoki Samu - Gémesi Péter 0 : 2 1. kör

10. Budai Csanád - Szász Benjámin 0 : 2 1. kör

11. Cserhegyi Dániel - Kozma Norbert 2 : 0 1. kör

14. Bács Bence - Pataki Dániel 2 : 0 1. kör

15. Elek Patrik - Horváth Zsolt 0 : 2 1. kör

17. Németh Sándor - Veszkóczy Balázs 2 : 0 2. kör

18. Borbély Bence Regő - Leskó Vince 0 : 2 2. kör

19. Lakatos Zsolt - Lóránt Levente 0 : 2 2. kör

20. Gémesi Péter - Sztojka Roland 2 : 0 2. kör

21. Szabó Jenáró - Szász Benjámin 2 : 0 2. kör

22. Cserhegyi Dániel - Dranyovszky Dániel 2 : 1 2. kör

23. Rácz Péter - Bács Bence 2 : 0 2. kör

24. Horváth Zsolt - Brázai Balázs 0 : 2 2. kör

33. Stefán Ádám - Horváth Zsolt 0 : 2 Vígasz 16-ba

34. Vékony Dániel - Bács Bence 0 : 2 Vígasz 16-ba

35. Fábián Sándor - Dranyovszky Dániel 0 : 2 Vígasz 16-ba

36. Tósoki Samu - Szász Benjámin 1 : 2 Vígasz 16-ba

37. Sztojka Roland - Budai Csanád 2 : 0 Vígasz 16-ba

38. Lakatos Zsolt - Kozma Norbert 2 : 1 Vígasz 16-ba

39. Borbély Bence Regő - Pataki Dániel 2 : 1 Vígasz 16-ba

40. Veszkóczy Balázs - Elek Patrik 2 : 0 Vígasz 16-ba

41. Németh Sándor - Leskó Vince 2 : 0 3. kör

42. Lóránt Levente - Gémesi Péter 0 : 2 3. kör

43. Szabó Jenáró - Cserhegyi Dániel 0 : 2 3. kör

44. Rácz Péter - Brázai Balázs 0 : 2 3. kör

45. Horváth Zsolt - Bács Bence 0 : 2 Vígasz 12-be

46. Dranyovszky Dániel - Szász Benjámin 2 : 0 Vígasz 12-be

47. Sztojka Roland - Lakatos Zsolt 2 : 0 Vígasz 12-be

48. Borbély Bence Regő - Veszkóczy Balázs 2 : 0 Vígasz 12-be

49. Lóránt Levente - Bács Bence 1 : 2 Vígasz 8-ba

50. Leskó Vince - Dranyovszky Dániel 0 : 2 Vígasz 8-ba

51. Sztojka Roland - Rácz Péter 2 : 0 Vígasz 8-ba

52. Borbély Bence Regő - Szabó Jenáró 0 : 2 Vígasz 8-ba

53. Németh Sándor - Gémesi Péter 0 : 2 4. kör

54. Cserhegyi Dániel - Brázai Balázs 0 : 2 4. kör

55. Bács Bence - Dranyovszky Dániel 0 : 2 Vígasz 6-ba

56. Sztojka Roland - Szabó Jenáró 0 : 2 Vígasz 6-ba

57. Dranyovszky Dániel - Cserhegyi Dániel 2 : 0 Vígasz 4-be

58. Németh Sándor - Szabó Jenáró 1 : 2 Vígasz 4-be

59. Dranyovszky Dániel - Gémesi Péter 0 : 2 Elődönt ő
60. Brázai Balázs - Szabó Jenáró 2 : 0 Elődönt ő
61. Dranyovszky Dániel - Szabó Jenáró 2 : 0 3. helyért
62. Gémesi Péter - Brázai Balázs 0 : 2 Döntő

Mérkőzés Eredmény


